[2CXSTAT1.D/A=1 @ 8" Falling

12CxCON1.DHEN

[2CXSTATL.D/A=1 @ 9" Falling

12CXINTC.CDTXIE

I2CXSTATL.D/A=1 @ 9" Falling

12CXINTC.CDRXIE

I2CXSTAT1.D/A=0 @ 8" Falling

12CxCON1.AHEN

[2CXSTATL.D/A=0 @ 9" Falling

12CXINTC.CADDRIE

12CxSTAT1.BCL

12CxCON1.CBCLIE

CLTIF

[206TATLS

12CxCON1.SCIE 3—

[2CXSTATL.P

12CxCONL.PCIE \ [2CxSTAT2.BITO
) J 12CxINTC.BITIE

12CXSTATL.TBF=0 @ 9" Falling

12CxINTC.HDTXIE

I2CXSTATL.RBF=1 @ 8" Falling

12CXINTC.HDRXIE

I2CxSTAT1.P

I2CxINTC.HPCIE

I2CxSTATL.S

12CXINTC.HSCIE

12CxSTAT2.HSBCL

12CxINTC.HSBCLIE

12CxCON1.ACKEN

12CxINTC.HACKSIE

12CxSTAT1.BCL

12CXINTC.HBCLIE

I2CxSTAT2.BSCLTO
I2CxINTC.BSCLTIE

12CxSTAT2.CBCTO
12CXINTC.CBCTIE

12CxSTAT2.HBCTO
12CXINTC.HBCTIE

12CxSTAT2.FRAME
12CXINTC.FRMIE

12CxSTAT2.NACKE
12CXINTC.NACKIE

12CxSTAT1.BCL

D—

I2CXSTAT.RBF=1 @ 9" Falling
12CxINTC.RXIE

12CxINTC.BCLIE

12CxSTAT2.CRC
12CXINTC.CRCIE

)

The Receive interrupt will be generated when EOP=1 to read the last byte by DMA
The First Transmit Data byte write is expected write by the CPU
The Transmit interrupt is not generated after the last byte Transmit
The HACKSIE control the ACK Sequence completion interrupt generated at @9th falling edge after transmitting the
ACKINACK in the host receive mode.

The TXIF,RXIF and I2CEIF are notin the status bits, those are actual interrupt outputs.
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12CxSTAT2.EOP

12CIF

12CxINTC.EOPIE

12CxSTAT2.ERR

12CxINTC.12CEIE

I2CxSTAT2.EOP

RXIF Interru

I2C:STAT2.ERR )

T

T\
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I2CxSTAT2.ERR

Error Interrupt (1I2CEIF)

12CxSTAT2.EOP

TXIF Interrupt

I2CXSTAT.TBF=0 @ 9" Falling

12CXINTC.TXIE

o Datatransmission interrupt is not generated to get CRC value from CPU or DMA in the CRC Auto append mode since
the transmitted CRC value is already present inthe CRC calculator.



